05882

10

11

12

13

14

15

16

17

18

19

2005882

20058¢ =

2005882

20058¢ =

2005882

20058¢ =

2005882

20058¢ =

2005882

20058¢ =

2005882

20058¢ =

2005882

20058¢ =

2005882

20058¢ =

2005882

20058¢ =

2005882

20058¢ =

0

1005882

2011764

3017646

4023528

5029410

6035292

7041174

8047056

9052938

10058820

11064702

12070584

13076466

14082348

15088230

16094112

17099994

18105876

19111758
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20

21

22

23

24

25

26

27

28

29

30

31

32

33

34

35

36

37

38

39

40

41

42

2005882

20058¢ =

2005882

20058¢ =

2005882

20058¢ =

1005882

20058¢ =

1005882

20058¢ =

2005882

20058¢ =

2005882

20058¢ =

1005882

20058¢ =

1005882

20058¢ =

2005882

20058¢ =

2005882

20058¢ =

2005882

20117640

21123522

22129404

23135286

24141168

25147050

26152932

27158814

28164696

29170578

30176460

31182342

32188224

33194106

34199988

35205870

36211752

37217634

38223516

39229398

40235280

41241162

42247044

43

44

45

46

47

48

49

50

20058¢ =

2005882

20058¢ =

2005882

20058¢ =

1005882

20058¢ =

1005882

43252926

44258808

45264690

46270572

47276454

48282336

49288218

50294100
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